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= Plot[Exp[-(2-x)*210], {x, 0, 10}, PlotRange -» All] |
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Plot3D[asolel // Evaluate, {x, 06, 20}, {t, ©, 10}, Exclusions » None, PlotRange - All,
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+ Plot3D[asol0@1l // Evaluate, {x, ©, 20}, {t, 6, 10}, Exclusions - None, PlotRange - All,
AxesLabel » {"x", "t", "ca"}, PlotPoints - 200]
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+ Plot[Evaluate[{ddans /. {pe » .01}, ddans /. {pe » .1}, ddans /. {pe » 1)},
ddans /. {pe » 10}, ddans /. {pe -» 100}, ddans /. {pe » 1000}}], (&, 0, 2},
PlotRange » All, PlotLegends » {"Pe=.01", "Pe=.1", "Pe=1", "Pe=10", "Pe=100", "Pe=1000"})
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 Plot[Evaluate[{ddans /. {pe » .01}, ddans /. {pe » .1}}], (&, 0, 2}, PlotRange » All,
PlotLegends » {"Pe=.01", "Pe=.1"}]
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sol = DSolve[{hegn, ic, bc}, u[x, t], {x, t}]
= 1
{fux, 015 ) —
K(1)-1 20 \/pe
.1 x2¢qK(1)2-2KI1] (40ipeenKil])) i + - i
F 185 "2 taK(1)2 el i Erﬁ[zexpe iK[ll -Erf'i[ 1801pe;nK[1]]*
. 20 . /pe 20 . /pe
1oakin | -20ipe+nK[1 .r180ipe+tK[1]41)] .. 1
P ko ol Erfi[ - _n [ ]]-Erﬁ[ P _ﬂ [ ]]' S1n[—nxK[1]]}}
‘ 20 . /pe 20 -/pe . 10

asolel = (u[x, t] /. %99[[1]] /. {= -+ 100} // Activate) /. {pe - 1000, a » 1/1600);

Plot3D[asolel // Evaluate, {x, ©, 2}, {t, ©, .1}, Exclusions » None, PlotRange - All]
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- asol@l = (u[x, t] /. %99[[1]] /. {= - 100} // Activate) /. {pe » 10, a-1/10);

= Plot3D[asolel // Evaluate, {x, 0, 2}, {t, 0, 2}, PlotRange -» All]
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